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A husband in the assets of his wife; who misappropriated

OVERVIEW

X1 92 "m0 posed a query; who is 731 in a case where a husband married a woman
who in her inheritance from her father' there was w1pn mwn (which they were not
aware of). While &21 argued that neither the husband not the wife nor 7"2, should
be ¥, our Ma0IN explains the reasons why we may have thought that any one of
them should be 2.2
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Should we say the %¥2 was Yv» since he did the main act of transferring w7pn
into a new M7 by marrying her, and through this marriage he acquired rights
in the w77 money -

=99 NNV NONY NYYNN 170y NHYY NN NNPYTIN

Or perhaps she did the main act, for she became married to him -
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Or perhaps 7''°2 did the main act, for they instituted that he has a right in the
money (of her 271 *0d3).

SUMMARY
Each of the three (7"2 ,nwX ,5v2) did something to contribute to this 79°vn; the
question is who is the main cause.

THINKING IT OVER

Generally, one who takes the w7pn myn and gives it to someone, the giver is Hva.
Seemingly here, the woman is giving him the rights to the w7pi nvn (by marrying
him), so she should be 7v1; why is there a question?!*

! From this M0 it seems that she inherited the money before she married (not like *» 17"72 >"wA, who states that she
inherited the money after she married). See 170w W"I? P27 NMIA.

2 The act of 79°yn occurs when someone transfers w7pi away from the wpn MW to another (non wWipi) NWA.

3 The transferring of the assets to the daughter due to inheritance cannot be considered 17°vn, since it involved no
Twyn on anyone’s part; it is automatic. However when the 9¥2 married her, the act of marriage gives him (through
the n"pn that he has a N0 173 in her M%7 °021) a new right over her assets, including the w7pn nwn. The va did a
mwyn, which should make him liable for 79°v». See ‘Thinking it over’.

4 See 1w n"x2 ©70 NN
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